Key to Quiz II; F4360; 10:00 Class; Spring, 2000

1.  In one sentence discuss the potential agency problem between managers and stockholders related to pay and perquisites.  Management will want more pay and perks than is optimal for stockholders since managers get the benefit while stockholders bear the cost.

2.  Al Bore Inc. has just issued debt for the first time (the firm has previously been funded with only equity).  Very briefly discuss why Bore’s stockholders now have an increased interest in the firm undertaking high variance projects.  Stockholders get the upside potential while sharing the downside with bondholders.

3.  What is the goal when setting up a contract between an agent and principle?  Align the interests of the agent and principle so that when the agent acts in their own interest, they are also acting in the principle’s interest.

4.  List the reasons that the board of directors may be ineffective in protecting stockholder interests.  1)  stockholders usually poorly organized; 2)  management and management’s friends usually on board; 3)  most S/H give proxy to management; 4)  management uses the company's money to wage proxy fight

For questions 5 through 7, assume you are planning to value Stump Bush Inc.’s common stock after the new project is undertaken using the following information:

Stump Bush Inc. has assets in place with a market value of $300 million and a standard deviation of returns of 45%.  Bush is considering whether to invest in a new project costing $120 million which will have a net present value of $15 million. The new project will have a standard deviation of returns equal to 37% and a correlation with existing assets of 0.87.  Bush’s existing assets and the new project are both expected to have a useful life of 8 years.  The firm has outstanding debt with matures in 5 years for $240 million and will fund the new project with additional debt that will mature in 5 years for $90 million and through an equity issue. The return on U.S. Treasury Strips (All listed as APR’s with continuous compounding) are as follows:  1-year = 6.36%; 2-year = 6.50%; 3-year = 6.64%; 4-year = 6.55%; 5-year = 6.68%; 6-year = 6.63%; 7-year = 6.61%; 8-year = 6.66%; 9-year = 6.65%; 10-year = 6.62%; 30-year = 5.70%

5.  What should you use for V0? 435 = 300 + 120 + 15

6.  What should you use for Dt? 330 = 240 + 90

7.  What should you use for t? 5

Use the following information to answer questions 8 through 10.

Chef Edwards Inc. has recently implemented an EVA incentive system.  Chef has set a target EVA for the firm of $50 million for 2000 with a leverage factor of $40 million.  The target EVA bonus for Chef’s CEO (Mr. Special Interest) equals 90% of his base salary of $800,000.  Assume that Chef’s EVA equals $45 million in 2000, $60 million in 2001, and $65 million in 2002.

8.  If Chef does not use a bonus bank, what will be the CEO’s bonus in 2000?  
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9.  Assume that Chef sets it’s target EVAs using Harnischfeger’s self-adjusting target method.  What will be Chef’s target EVA in 2001?  
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10.  Assume that Chef decides that beginning in 2004 it should implement a bonus bank system.  Chef will give its CEO a beginning balance of $2,100,000.  If the CEO earns an EVA bonus of $750,000 in 2004 and an EVA bonus of $900,000 in 2005, what will the payment from the bonus bank in 2004? 
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